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Question No.1 is Compulsory.npu$ory. 
..; -:-.. ;,. - i:1r;-i',-i. .",Answer any tl-rree out of remaining five questions .,.i.,.. ...,.". 1:. i. ;,,lii..r;,.LrlJvv!r drrJ utrsc out ot rglnalnlng llve questions ,J'.-,...,...,- . _.; ,-i ..

Assume any suitabre data wherever required but jus'iiried the same ,' 
t 

'.
lllustrate ans\,ver with sketches wherever requirei .,,-.: l- , il:4.' " ..'' r' ." . - 

'l:' , 
ar,'f

state whether true or false and justify rn. ,.*.ait?;ij"li1"$tr' ,t,1:: ": 
t ':,11:|!;i,i

. B E- E ".il:,t :. t 2=:.:W(K)a€f141p161,:",r.Paper / subject code: 52801 / Design , Munug"rnent &:Audifig\f Edctrical sr,rr.or, ....\, ..; ." ,!..:..:

Soft starrerprovidedlilJil,"l:lyr-T,ruilfi].ii'l_,,0*ii#:ffi;',,;;;i,ii;:.
In a distribution system air circuit is generaily used as mairi gircuit ur"ur.., 

- 
irii .

Electronic b:lldst will improve energy.*iii,i. iri'. -ij,i',{.j.t..;i1.'i..".rt,ioii'' 
.

:::-1"::1.ienr 
nroror is more compact in size coinpaleA to st3ndard motor oi i;;j '

same rating

Derating factors does not pray vitar ,ot. in caute sizing anct serection , I ' (02)
In a distribution network, Dvnl i,giogped';a"sr"i,n"iJi***itt; r."0 i;;;NameandexplainthefunctionoflolIcwingprotectivedwices
i) No.5l ii) No.52 ,-' iii)'Nb,27.' .,,,jvj'No.32 '' '''vj'*;,55 ,. .,,: t':..t:

y*:,:3:#:"',f#:i: *":',,y 
f-"yi"e 

and tareering risi -our tr,e (0s)

From the data given;below, Y e, :.'j:.,ii'-l',.-..,t' :; ..i:, :'.-:::: :: 
:'

i. Draw the sLD;ho;-d,rn itoi;uo; rfi;*,'' l"ai;i.e";nd varic,t:s 
(10)

protective devices and theirratings. . 1, .. -':.'-;f -. ,'','--

il: tutrr1l^at"_ t"he tva rati'g ef transiormlr reqrri."a l tir*'roads.
iii. Speci0 the ratings of HT an{ LT (lnirip) ci}cuit breaker

tJ) Discuss vziiious'e'ergy qfficie ,ttechno.logies used to impro.ze performance of (r0)motor. .

TYP. qf.
load

.I-oad in.
.11tr7:,,',

Efficiencv
: ., ..1

.Lodd":
-hactor

Dive15i1y

Factor
Plant t 800 0,9 0.8 , 0.8 0.7
Plant Il 600 0.8 0.8s 0.75 0.8

0-85
Heaters 350 0.8 0,,7 .

c.7s

0.8s
Othbr load 300 0:7 5 u.9 0.8

qbqg5afy *i1tr j ustifi ciriiins.
Sr. No ,

.Type of Cable Value of k (Cu)
a) PVC.cable < 300mm2 115

b), PVC cable > 300mm2 103

c) XLPE cable 114
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Q 3, u) 
.l',1;Y?,,1;wli'rt:,f".;:',to s motgrs each of lsHP, 50H2,440v,0.85p.f lag (10)

: ,. ,,oggrating 
at 8l!9,'l,440rprn,.{elta connected I.M. Distance between MCC and" mlloL iista]la{,i01 is'40m alnbient temp is 40'c. Fautt level at distribution

, . , ,,, . Tl::j:lool;*jr.rre ryq: Finstaliation.,size rhe copper cable for supplying

lov/ertio-'Y9",t:_Totor and specify the same. Make suitabte assumptions ir

s6869
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B EtpJohdc-l) Sernqtr r..-:. rl .r'''.-""

...,..; .. .' 1.1b) What are the factors are to be considered u'hile selection and instAlaiion of bG
set? Explain in detail.

What way you rvould design illumination system for a ieadjng room rvith (10)
dirnensions (20r-* r58*3.5H) in meter. Deverop ttle tigll:lildjayd; 

""d 
jy.iiry, , 

' 
,.1,,

ilre various assumptions .:_:.r. .rj ,:, -: ,. ,:. .:...t.:.r.... . . t...:-r.:.
How would you classify types of installation of capacitor uprit ii,teiiile , 

r ,.: .' .:' ' 'i16i'ii
Define Energy Audit? Explain need of energy audit? pxprain.inoetailthe steo^s n0\

iii) CUSUM Technique

--t -'--'AJ 
r!vJrrwlll t; a:t. :. ..... .t:: .:rt,.:.:;,.'

v) Elementary Diagramr':, ,t 
;i.i,t. ;:,r,,t .'- 

j',r-" 
"',,.i 

,: .:,' ....' ':'i'li '
',:. ..:a . :' , ./' ' .:. ;1. ;:.1 ' : a: ,, ,

Data for Illor lllum on D€-sigrr'.problems

K
R. = 0.7 Rc = 0'5 -R" = 03

R", = o,5 Rw=O3 R;=0.1 R", i:0.5 lRy; -O:3 R;,. ti.t iit'= O 5 $Lv i.0"3 Rw = 0.t
0 0 0 'o 0 'i 0; o o.: ,0 0

o.6 0.43 0.39 .o;36 'o.42
\0.38.t: U. Jf) o.41 0,38 0.36

0.8 c.4s :,O.41 0.38 o.44 0.4d '0,38 0.43" ,o.40 0.38
1.00 0-51 ".:A'.,47 o.44 0.55 o,47 4.44 0.49 0.46 o_40
1.25 0.55 o.51 4.49 .0.53 .0;50 '0:48 4.52 0.50 o48
{ _50 o:57 o.54 0,52 0.56 0.5s 0.51 o.54 o.52 0.50
2.OO .0.61 rlo.58 "o.56 0.59 0.57 i0"5s., o.57 0,56 0.54
2.54 o.63 '0,61 o:59 '0.6'1 0.59 0.57.: 0.59 0.58 0.56
3.OO oi65 . 0.63 0,61 ,0.63 0,61 ',O.59 0.61 0.59 n5R
4.OO ..:0.67 'O;65 0.63 1,',Q"64 p-,63 ,o.62 o.e.? 0.61 0.59
5.00 o.68 o.67 0.6s 0.65 .'0.64 .0.63 0.6 j 0.62 0-61
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lit? Explairi.in detailfhe steps (10)
,.1',;.':-l;"r.-ri' a.ll .l_.' :::: -: i .".r '. -.. ,., 

'; .. t. .. "

How would you categorize differe't means 1o lchigve. ti1. 9n.1sv,,9ry 
jn.y,,iri . 1rQ1motor? Explain in detail.

i) Variable Speed Drives ',' ':
. :a. .. t. .

ii) UPS , ,,. ,l . . ., . --' ,..;.:.,r,.:1,' ,y,,'l,- .i'.rt".,,r.r,,1_;;,.,

CDK\ (10)

Q4a)

b)

Q5a)

b)

Q6

taken to perform detailed audit

ination Dbs

Sr.,No. T.vpe oflamn Watt
18 te

Lumen output

,1.

101s
36 {Halo rrhosphate) 2450

18 (82/84/86) 1300
36 (82/84t86\ 32s0

28 (Ts) 2800

CFL

o
600

l1
13

760
920

18 7',ron

TURN OVER .....
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: )...
...'.1.

Erc
t.o0

35.c
o.9,1 s9 fr, :sg Tff 6ofc 6$0

o-ro 035

inilutiins sroups bunched in more than one plane

Wn..e,t|p"rcin! bet*een adjacent cables excee.ls twice their overall Ciameter, no

'rdduitibn'factor need be applied

6-FlrEuc lng$Pru
' r.c-ot(B -'

. ct:;tlog9a6tl
Per fmtoil
99tnallo

T

f,9 i:iE #q 'dF .?S'tr

0.57

SGGFmiltii* applicable to groups of cables of one size equallY loaded,
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